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I.'ourth semester B.E. Degree Examination, Aug./Sep t.2020
Engineering Mathematics - lV

Tiurc: .l lrrs. Max. Marl<s: 100

Note : I ) Anstuer ary FIVE full questiorts, clroosirtg ONE Jutl question from eoch morlule.
2l I se o.f Stotistical tobles ollowed.
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4a.

5a.

b.

If f (z) is :r regular func

Discuss the

Aioint i1 dis

x
*3 2 +

i$.

1 0.1 Jr,L' 0.2
J 0.3.,1 rt 0,1

De tennine the marginal prob

is given by the following table:

l TvrA'r'41

z : 0, l, co into tl-re points
(06 N'larks)

(07 \'Iarks)

(07 \,larhs)

cov(x. Y )

(07 \larks)

b,

6a.

b.

where C : lzf 
: 2.5 by residue theorem. (07 Nrarks)

,rri

rlD" OR ,.'
l:)42\

'z.proverhar l +" 
= 

llrrrl' =+lr'(r)l'. (06Mrrks)
f dx' uY- )'\/,/

_ 7/
(07 \ lrl l'ks)\v

g lCauchy residue theorcm

(07 llrrks)

the value of and variance. (06 Marks)
a test on 2000 bulbs, it rvas that tl"re liIb of a particular make , was nomally

distributecl with an average life of 2040 hours and S.D. o1'60 hours. Estimate thc nlrnrber of
bulbs likeiy to bum for. (i) rnore than2150 hours, (ii) less than 1950 hoLrrs.bulbs likeiy to bum for, (i) more than2150 hours, (ii) less than 1950 hoLrrs.
(iii) rnore than 1920 hours and but less than 2160 hours.
Givcn : A(0 < z < 1.83) =0.4664, A(0. z<1.3)= 0.4082 and A(0 <r<2)= 0.tll2

" ::: 
'::'1i!

OR
) v(0Apply Milne 's predictor-corrector method to compute y(0 4) given the differential cclLratrorr

x r 
I - Sy and the lotlowing initral values:

(l\' d\
y(0) - l. 1(0.1): l.l l03, y(0.2\: 1.2427,y(0.3)- 1.399
y'(0):1, y'(0.1)=1.2103, y'(0.2):1.4427, y'(0.3) :1.699 (06Nlarks)

With usual llotation, show that
la

.l , (x)- 
qr' 

- 
Slnx (07 \Iarks)\rx

With usr-ralnotation, derive the Rodrigue 's formula P,,(*) = J-i:(*'-l)'' $luarks)' 12'fi! dx"

ILl.-valuiltc I .r (t-l)'(z+21

ability distribLrtions of X and Y. Also find

of a variate x given by the following table:



8a.
b

[)e rivc mean and variance of t]re Poisson distribution.r-lrjr rvu urtrall ano vanance or U1e rotsson olsmblltlon. (06 Marks)
In a ceftain town the duration of a shower is exPonentially distributed within mcan 5 minute "\tr/l.^t ;- +l^^ --^L^L:11+-- +L.-+ ^ ^1^ ^---^-- - -:1r r / .What is the probability that a shower rvill last for.
(i) less than 10 minutes (iil tg'riiinutes ormore(1+,),,.10'riii

t'

tx\ | | I I ""*
l0l0l l l l l t l, -.'
"ttt-t-t-i I iSl{litl
r-

OR

(iii) hctrveen 10 and l2 rninutes.
Givcn.

'..,...if i r I r f I lll-n_l,i:'

I'n,c dice were thrown 96 times and number 1,2 or 3
lollorvs the frequency distribution as follows:
No. of'dice showing 1,2 or 3 : 5 4 a

J 2 ,1,,.
rfl

Irrcqucncy : 7 19 35 -/.4 6 J
est the hypothesis that the data follow a bin tstrtstribution at

17MAT41

(07 Marks)

I ol srgnificance
(07 \'Ia rks)

(06 Marks)

9a

b

l'lll'' 4lt(

(i) Find Marginal distributi;;fx ufiY
(ii) Find E(X), E(Y) and E(XY) f07 Marks)

Module-5
A c.in was tossecl 400 timcs ,nd th.-lr*ffi"d up 216 timcs. Test the hvpotircsrs that the
coirr is unbiased at 5Yo level of significance. (06 Marks)
lrivc dice were thrown 96 tirnes and number 1,2 or 3 appearing on the face of the dice

"q]]gy, th. fr.qr"""y dirt
t1 t'.m

\
ly. , 1 lr01 lor d.f is 5J.

ilt ,j:::::,

11
^L1

') 
I

-iJ
1^1Ifo=il 0 ''22

, next night. On the other hand if hc
the next night. In the long run how

(07 Marks)

10 a.

b.

1t
0r--Ul-)')i

\l- L /
A ranciom sample of 10 boys had the following LQ's : J0,120,1 10, 101, BB. 83, 9.5, 98, 107,
100. Does this supports tlie hypothcsis that the population mean of I.Q's is 100 at 5% levell(r(,. lroes Inls supports Ule nypothests that ttre populatlon mean of'l.Q's is 100 at 5% level
of si-enificance? (t6e5 :2.2(t2 for 9 d.f) (07 Marks)
I.ixplain : (i) Transient state (ii) Absorbing state (iii) Recurrent state. (07 Marks)

{ru+JJ
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, I'rnd the fixed probabiiities vector.
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17MATDIP4l

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

Is -6 2l
,i*l-6 7 - 41

12 -4 3l
OR

2 a. Solve the system of equation by Causs elirniriation method.
2x+y+42=12 \ :2x+y+42=12 \ :

4x+l7y-z:33

b. Using Cayley-HamiltonEi.h,eorem find a-',€lii[_.rl i ''

l-r 41A=l^ .ln=1, 
3]

c. Find the rank of the matrix by reducihg in to row echelon form, given

l-i z3z1 "i
.N^l

Llr 3 4 sl 
-..@-4"'

f' 
'' -tP

&#$\ *, &r Module-2: -.ir' "drfrn. 1r 

-

3 a. Solve by method otrindete,mined co-efficient y" - 4y' + 4y = e* .

rl t2 r

b. Solve 
n f, - 2y * q9- gv :0.
dx' dx' dx

c. Solve y" +2y'+ y :2x.

i:1. J .i{t!.'!&/t.

he"" " 4ry',1 *]k*

OR
d'v* + y = sec x tan x by method of variation of parameter"
dx-
y" -4y' +13y=cos2x.

- d'y --dv6*'-+17:! +i2v=e-'.
dx '' dx

4 a. Solve

b. Solve

c. Solve

I I I I I I I I I 
!. t*

Fourth Semester B"E. Degree Exami4gti&n,"Aug./Sept. 2020
Additional Mathemalics - ll

Time: 3 hrs. Max. N4arks: 100

Note: Answer any FIVE full questions, choosing Olt{E full question from each module.Note: Answer any FIVE full questions, choosing Olt{,

Module-lir , -,1

. Findtherankofthematrix o=i &]*1 -j -1 
i11 0 r i Itt

[o r r -r]
0 r il

.l

\ ...,,r;2 
""'3 * i

&.,Sir{ *3 - Ia. Find the rank of the matrix A =

0 1 I *1-l

tr of2
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17MATDIP41
i\lodule-3

5 a" Express rhe following functio, into ,nit step function and hence find I-[fttl] given

f (t): {t' 
o' t < 4 (oT Marks)

1.5, t>4
It-o-"1b' Find Ll 'I ' l' (07 Marks)--t t .l

c. Find Lft"cosat]. (06 Marks)

OR
6 a. Find I-[sin5t"cos2t] (07Marks)

b. rina lie" .or'3t] (07 Marks)

c. Find Lfcos3t.cos2t.cost]. (06Marks)

Module-4
7 a. Empioy Laplace transform to solve the equation y" + 5y'+ 6y = 5s:"

given y(0) : 2, y'(0) = |. (07 Marks)

trlh Frnd l.' I

I s(s - !)(s + 2Xs + 3)]
,i#4 (07 Marks)

"{i;w;:.''':.r(l.t s+
c' Firrdlll = 

o'- l' (o6Marks)

I s' -6s + l3l

b. Find r'l bsr='l i ,..,Yffi * ,"',,,,,,, 0TMarks)i+".di%

dq&L #&)(

that the item non machine C. (07 Marks)

(07 Marks)

find P(A), P(B) and

. " -,[ 2s-5 I . ,l s-6r Ic" Find L'l--l-rL l--l. (06Marks)
| 4s'+25) [l6s'+9]

Nlodule-5
(07 Marks)a. State and prove Baye's theorem.a. State and prove Baye's theorem. (u/ LvrarKs,

b. A shooter can hit a target in 3 out of 4 shots and another shooter can hit the target in 2 out of
3 shots. Find the probability that the target is being hit.

(i) When both of them try.
(ii) By only one shooter. (07 Marks)

c. If A and B are any two mutually exclusive events of S, then show that

P(A t-,B)= PrA) + P(B)- P(R n B). (06 Marks)

OR
8 a. UsingLaplacetransformssolve y" +4y'+4y=" ' giveny(0) :0. y'(0)=0. (07Marks)

f / \l

OR
10 a. Three machines A. B and C produce respectively 60o/o,30o/o, 10% of the total number of

itens of a flactory. The percentages of defective out put of these machines are respectively

2oh,3oA and,4oh. An item is selected at random and is found defective. Find the probability

b. Prove thc lbllowing : (i) P( O): 0 (ii) PtAl = l- P(A)

(06 Marks)
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Iiorrrth Semester B.E. f)egree Examination, Aug./Sept" 2020
Object Oriented Goncepts

'l-in-rc. -l hrs. Max. Marks: 100

\qrtc: .,lnsrver an! FIVE full questiorts, clroosing ONE full question from eaclt module.

i!r- ,::::,, .,u, ,rrr. :iriri. r. Siin'

o"'flule-f iljrii'

State the important features of object oriented programming paradigm. (10 Nlarks)
Dcflne function overloading and write a C++ program for,finding volume of a cube
(si.sxs), volume of cylinder (Pl*rxr*h ). rectangular box (t*bnl.,) bV accepting inptrt

1 a.

b

o
2
i.
o-
-
Z.

a

:)

?l) *

_y3

= 
trr

,L
=VJ

.= -l
C.
- 'rl)
i_u
D.

-a a)

Oz
,,1 ,

--
lJ')a)
dla--a-aaDas-
<=

:' tt),CC
oF,

o;
F;,
a".
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,)
h':

=,t:6

;-!

zr: o

a)=
;!
,:>
6t!()

).i
...- ai

i)
a
L

E

ca
a

lionr keyboard and printrng the volurne on console using the method volume ( ) applying the
ctrrrccpt of function overloading ( l0 Marks)

Irxplain function protob,ping *ltt', .*u,rf;l (06 Marks)
IIori, do namespace helps in preventing pollution of the global namespace? (06 N{arks)

What is constructor? List the clifferent types of constructors and explarn delault constructor.
(08 Marks)

2a
h

C.

3a
t)

4 lt.

b

C.

5a.
tr'

L.

6a.

h'
(l'

7 tt.

b.

C.

[)iscLrss the label break ancl continu. ,tutYint"]til u,r.ruropl. .r.h. (06 Martrs)
Erplain concepts of amays in JAVA with exarnple. Also write a progratx that creates anil
inrtialize a five floating element amay. Find the surn and average of its value (08 Marks)
Wrrte a JAVA program 1o calculate Sum and average of first six elernents of an array
l1{)" 20, 32,42,55, 60, 75,82,90,92\ using for each loop. How for each is different fi"om
liir loop. (06 Marks)

illodule-3
lrxplain the different access specifiers in JAVA.with example. (08 Marks)
\\,'hich rs the alternative approach to implement multiple inheritance in.lAVAl Explain with
Irrt cratnple. (06 Nlarks)
\\ itlr cxample. give two uses olsuper. 106 }Iarks)

OR
Wir:rt is an exception? With syntax and example, explain exception hanc'lling mechanism.

(08 Marks)
\\'lrcn constructors are callccl in thc class hierarchy'i (06 Marks)

l.is1 and explain JAVA Buzzwords. (t0 Nlarks)
Irrplain the structure of JAVA program and its keywords with an example. (10 Nlarks)

irxplain package and its types. Explain import command in Java with examples. (06 Marks)

Stf|'.'

Module-4
What is the
irrple mented

need of synchronization? Explain with an example, hou, synclrronization 1s

What rs prionty? ["low is it assigneci'/

llriefly explain adapter class.

(08 Marks)
(08 Marks)
(04 Marks)

1of 2
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"dd;uu'.u,

8 a. Explain the mechanism of cvent cleiegation n-roclel. Give an exatnple lor usiug kcyboalcl

evet-)t" ( l0 -\'larks)

b. Dehne thc concept of multitlrreading in Java and explain different phases in Iilc el'clc ol a

thread. (05 Marks)

c. E,xplain keyEvents and mousEvent ciass. (()5 Nlarks)

IVlodule-5
9 a. What is ar-r applet? What are its types? Explain the skeleton of an applet. Iinlist 

^?il..lff:,
b. (live the dif{brent forms of repaint method. (06 Marks)

c. Iixplain getDocument ( ) and getCodebase ( ). (04 N'Iarks)

oR llir

10 a. Write the advantages of over AWT. (04 N{arks)

b" Explain two key 'swings. (06 i\larks)

dispiaying anyone of the options ; apple, orange, rnango. qrapes,c. Write a swing progra
through the selection of combobox by clicking shor,v button. (10 l'larks)

rliii.:r::::t::::ri

.:: 1

"!t'

iv

., i. ', ,.. . -i:''' Z ofT
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Time:3 hrs.

Note: Answer any FIYE full

Max. Marks:

ONE fttll question from each module.
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(08 Marks)
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2a.
b"

3a.

b.

Define an algorithm" Explain th
What are Asymptotic notati
example of each. (08 N{ar1rs;

Illustrate mathematical analysis of recursive algorithm for Towers of Hanoi problem.
(08 I\Ia rlis;

Explain the general plan of mathematical analysis of non-recursive algorithm with arr

exanrple. {08 Mrr';rsr

OR
What is the worst case. best case and average case efliciencies of sequentialsearch?

(04 lVlartis)

Discuss how Quick sort algorith- *offiffi an array and trace for the following data set.

\UO r!ra I ri)l

iscuss the important problem types @ fundamental data structures. (08 Mari<s1

Module-2 ,

m works to sor-t an array and
Draw the tree of recursi

Derive best
Obtain the
method.

list of e ven below:

case comple
topological r

,." \:y ?cs) I -

IMH' \---l I us./

'""' 3 Fig"Q3(b) (06 Mar'lsjrlg"vJ(o/ (uo lYlali$ir

c. List out the advantages and disadvantages of divide and conquer technique. {04 Marirs)

OR
4 a. Explain divide and conquer

b. Develop an algorithm for s

OR
a. Explain divide and conquer technique with its control abstraction. (04 Mariis;
b. Develop an al$orithm for sorting elements using Simple merge. Apply the same for sortingr

pply Strassen's algoritl
[r a 2 ri l-

l- ; ; ,l_l
lo r 3 ,l-l
ls a 2 r_j L

.'

1

1

0

3

2

2

i

xity of quick sort
sorting for the d

1 of4

(08 Marl<s)

(10 Nlarlis;
source remoyltl

(04 Marlisl
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respectivelY.
(04 Marks)

Explain the concept of greedy technique for Prim's algorithm. obtain a minimum cost

Module-3
State Job sequencing with deacltir. p-tt.*. Find the solution generated by .1ob- sequenclng

problern for 7 jobs glr.r', profits 3', 5,20,18, 1, 6, 30 and deadlines l' 3' 4' 3' 2' l' 2

spanning tree for the graph below in Fig'Q5(b)'

(). Sorl the list of number using He sort: %

2 t",.
-.- !'t o 5 4 .l

i""ffi

a.Bt*#f

(08 Marks)

(08 Marks)

for the following instance of knapsackExplain GreedY criterion.
OR

Apply greedy method5a
problem. CapacitY oithe kn

Construct a Hu code for the following data Lnd enc

Character
,,tA

B C D E

Probability o.4 0"1 fi) 0.15 0.15

k
Itern Weieht Value

I;J 2 ,l',.,$ 12

2 l*; -$10

$'i 3
a "' ';
J"r $20

4 1 a '1
4.. $1s
li,

b.

,. ;i#

[oiooll0 0 0 1lR: I i

lo o o ol

[roro,]

ode the test BADEC.
(08 Marks)

(06 Marks)

(06 Marks)

(

Solve thq hglo* instance (Fig.Q6(c)) of single source shonest path problern with vertex a as

the sourc€".""-
.lr: .ilil6JE#+lil.

'&r'i

, llilll}i,'t

.ruq

s.'"%, *

&"-'ru
*%, '@* X& Str"-;sM

,'YiHlQ6(c)

Module-4
7 a. What is Dyrramic programmingt Usqg Wr"trull's algorithm, obtain the transitive ciosure of

the graph defined by the following adjacency matrix'

(04 Marks)

?.

Fig.Qs(b)



' l7CS,l-g

b. Define multistage graph problem. Determine the minimum cost path from source {S) to

sink (T) for the graph in Fig.Q7(b) using forwarci approach.

ie.Q7(b)
c. Solve the below instance an-Ford algorithrn lFig.QT (c)1.

2  
/-tz J lr\

ln
1

,)q."
L J 4

1 0 'ef!5:" 15 2M
2 5 .u0 9 .1tr';*
3 6,' ,,::; 13 0 lr"

4 ,;.8, 8 9,n :,::0

imal Binar.r search Tree for the followi
,12'34

atil
piit

'"' ,,1.' ...,S.,, (tr2 Markl;

Modute-5
a" Draw the state-space tree top generate solutions to 4-Queen's problem. (04 Mari;ri

b. Apply backtracking technique to solve the beiow instance of the subset sum problem.

s:{1,3,4,6i d:7 (08Martrr)

c. Apply Branch_and_Bound technique to the following insurance of assignment problem.

- %€'?

*ffi

*{dtt

-q#*'"
n:ir'

(06 Ma rlis)

(10 Marits;

8a.

i08 Marii,;)
b. Obtain optimal B hT

.;Qe.

.s, '*

fulffilie below ins@nce of TSP using

Ee, ..; € -;'
Yw

lowing identifiers.lnary search -t ree lor tne IolI
1234

do if .,.,, 1l7t while
0.1 0; 0.4 0.3

jobl 1ob2 "job3 j
[e 2 7 8lPersona

No 4 3 TlFersonb
C=1" I (O8Marti:;- ls 8 I SiFersonc

l; 6 q 4lPersond
* 

..i

I of4

Fig.Q7(c)

...,:.- OR
Travelling Salesperson Problem (TSP).

dynamic



OR
How the Branch and*Bound technique is di
insurance of knapsack problem using

ii *:

17CS43

:nt from backhacking? Solve the following
.*and*Bound technique. Gtve knapsack

I-
,a

; -^
,:wq

.dg",,!]rl1*r

:,

;.'ry }

b. Define llamiltonian cycle. Check whe;her
heiow in Pig.Qi0(b). ?e/

F?u-4l*
\.,'

12 i 
108 Marks)

the Ilamiltonian cycle exrsts for the graph given

. " .''r,::i.,, Fig.e10(i1.-. (04 Marks)
foto*ing: =i{''

;].titl class Np (iii).Np eomplete probrem 

,,(ir) 
Np Hard probrelos 

rvrr.r.rl

:. * :t< * >F >{<

:it' .r::l -.- '.,,-

Define tire
(i) Class

ity: 10"

Item 1 2 -) 4

Weisht 4 7 5 J

Valve 40 A1AL 25
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'['imc: 3 hrs.

(i) Progran-r organization clrrcclivcs
(ii) Data det-inition clilectivcs
(iii) Program cncl directivcs.

c. [:xplain thc control translbr instrllctions of ti086
instruc tion s.

l7cs44

Max. Mzrrks: 100

(10 Marks)
(05 Marks)
(05 Marks)

(07 Marks)

(06 Marlis)

(06 N'larks)

(08 Marks)

Irourth Semester B.tr. Degree Examination, Aug./Sep t.2020
Microprocessor and Microcontroller

la.
b
C,

r)
e
9
3

=
tr
!

"au

t!L

11) -(=
c-*

-o
5/l ,

-6'=l
.= .l

a?t

a>

=,a:
-!

:-'u'trc
o!

oX

e

jr:.u i2

!,

a4

oLo---
ii==-*')i>5t
O,

C<
*-i
..

o
Z
d
I
a
o.
E

\ote: ,,7rtsx'er on.l, FlrlE Jitll questiotrs, choosing O^L Jhll question lrotfi eoch module.

Nlodule-l
}:rplain rvitli a ncat blocl( diagrarr basic structurc of 8086 rricroprocessor.
Comparc 801i6, 8048(r anil Pcntium rrricroprocessor.
List oLrt thc tlags o18086 rnicroprocessor.

oIL
2 a. Erplain u ith siritablc cxanrplcs vrrrioLrs iiclclressing nroclcs ol8{)86 rnicrol-rrocessor.

b. Whal is nsscmblc'r ciirccrive'/ tixplain th,.' tbllori ing asscnrblcr clircctir,'cs.

(07 Marks)

micloprocessor or processor controi
(06 Marks)

Vlodule-2
3 a. Ilxplain the lbllowing with an example tbr each:

(i) DAA (ii) IDIV (iiil ADD tir,) PUSH (o8Marks)

b. Writc a program to convefi 34 and 37 ASCII numbers into packed BCD nurrbers. (06 Nlarks)

c. Er;llain thc following rotate inslrLrctions with sLritabk- examples.
(i) ROL (ii) ROR (iii) Rt-C (iv) RRC (06Marks)

OR
4 a. E.xplain thc tbllowing, u,ith a code of BIOS INTI0H prograrnming rnode of interrupts.

(i) C'learing the screen
(ii) Sets the cursor at the center of the screen

b. [:rplain tlre lbllorving DOS interupts 21lJ with au example fbr cach.
(i) Int 2 lH option 09
(ii) Int 2lH option 02

c. De frne macro and rvrite the syntax olmacro definition for the lbllowirtg litnctions:
(i) S;tlirrg thu tttI'strt' positiorr
(ii) Display string
(iii) Cllearing the screen

N{odule-3
5 a. What is FlashROM? Explain thc functional block diagram of 6l l6 SRAM. (06 Nlarks)

b. List oLrt at le ast fir,e dilfercnces betr,vcen SRAM and DRAM. (05 Marks)

c. Explain how to access the even and oc'lcl rvords in 8086 microprocessor r'vith a suiitable

cliagram. (04 Marks)

d. l-xplain 74LS 138 clecoder with a neat diagram. (05 Nlarks)

I of2

GB.o$ $GHEME



17C544

(06 NIarks)
(()5 Marks)
((15 \larks)
(0,1 !Iarhs)

(()7 NIarks)

\\rith a lleat
(05 NIarks)
(0fl \{ a rks)

logical left
(0tl \la rks)

(06 NIarks)

(06 NIarks)

OR

a. Assume thal \ve have 4 bytes of hexaclecimaldata 25ii,62ll,3FII and 52ll'

(i) Find the checl<surr bYte

iii) pe rtorm the chccksur,,., opcratiot.l to cnsure data intcgrity

(iii)If the seconcl bytc (r2 hai b"en changeclto 22 show thc clrecksr-rrn detects tlte en'or'
(06 Nllarks)

tr. L.xplarin eacl.r pin of 8255 p1.ograrllmablc pcliphcral interlhcc clcvicc r'r'ith its nciil pin

diagratl. (lo Marks)

c. Explain thc basic' l'O trloclcs ol-8255 clci'icc' (04 Nlarks)

Module-4
11. \\/l.rar is RISC machine'? I}plain RISC design phrlosophy.

b. Explaiu thc iustruction sct fbl cmbcddcd svstct.tt'

c. Irxltlain rvith neat sketch AMtIA bus 1-rrotocoi'

d. Expiain en,bcdded system sofiwarc'

oR
a. Ilxplain ARN4 core data llow mociel functior-ral Lurits rvith suitable cliagt'ant.

tr. I:,rplain c-ttrfr.:t')t llrr)gl'alll statLt: t'cgister rvith a l'itu'isc rnanipulatcd operatiou

sl<etch.

c. Expiain complctc ARM rcgistcr se t.

N'lodule-5
a. Explain the concept ol Barrel shifter with ALU o1' ARM proccssof along rvith

shrft operation.
b. Explain the following logical instrr:ctions of ARM processor with an exatnple .

ri) oRR (ii) Blc (iii) LMP
c. Explain single register transfer instruction of ARM processor.

10 a. Lisr out the acidrcssing rlethod, for.r"?tloperatiotls of AI{M processor. Frxpla[r S1-MFt)

instrilction of ARM processor. (07 N{arks)

b. List ogt ancl explain SWAP instruction of ARM processor r'vith cxamples. (06 N'Iarks)

c. Ilxplain soft*aie iltcrrr,rpt instructions oIARM processor with exanples. Explairr hor'v SWI

hancllcr can be irlplemented. (07 Nlarks)

1 ,,+',1
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lrourth Semester B.E. Degree Examination, Aug./Sept.202O
Software Engineering

'l'ir-nc: .l Irrs. \,lax. Marks: 100

Note: ..lnsx:er iln.l FJI/8./iril questiotrs, cltoosirtg O,\E lilll question.from euclr module.

N'Iodulc- I
a. What is a Soliu'are'l List and c,xplain Softu,are I'.ngir-rccring I':.lhic,s.

b. l:rplain EJochnr's Spiral nrorlcl lvith a ncat diagt'am.

c. lrrplarn Ethnograph), in detail.

OR
a. Er1:lrin solirvarc clesign proccss u'ith a ncal cliasratri.
b. Ir;liain varioLts stages oi'soliti'arc tc:stittg IrocL-ss.
c. I:rplain i111911 rr:tvinq anci sccnarios.

b.
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N{ocl u le-2
:r. \\/hat is lrcha,,.iorrral nroclcl'] Erplain rl:ita clrivcn Lnoclcl lt,ilh a ne at diagl'aur. (07 [Iarks)

b. \\/irat is a stilte diagran'r'i I}plairr titc rvorking itlmicrori,avc ovcn rvith a nclit diagram.

(07 llarks)
(07 \lrrhs)
(06 \Iarks)

(06 llarhs)
(06 VIarks)

(0tl !Iarks)

(06 Marks)
(07 llarks)

(0ti .\Iarks)
(06 !larks)
(06 Marks)

4a.
b.

5a.

6a.
b.

C.

7 tr.

b.

C.

8a.
b.
C.

c. i:rplarn nroclcl ciril'en urchitectr-tre vvith a tteat rliagranr.

OR
\Vhat is It tj P'l tixplain the phases in rational Luiille cl process.

\\1hat is a puttcrn'? Explain obset'r,er pattcrn.
I.r1r111i1, tlue c irttPle rnct)lilliott i::ttc:.

OR
With a ncat diagrarl, erplain the soltu,are evtllution pl'occss.

lrrplain thc: [-chntan's lrw concell to the systctlt changc-s.

\\'hat is solir,r,arc r.naintcnancc'l State thc activitics olleengincering proccss.

Nloclule-;l
[:xplain thc titctors all.rcting soitu'arc pricirrg.
[::rplliin pro-jcct plimning process r.r'ith a neat diagranr.
[-ist ancl crplain various COC]ON,'lO cost estittration nlodel.

OR
Erplain solilr,arc review process rvith a ncat cliagrat'tl.

What is Prograr-n Inspection'/ [ixplain ittspcctiot't chcck list.
What iire prodrrct metrics'/ Discr-rss tu,o classcs of proilLrct tlctrics. hrplairr
pli)(ltle t tnett'it s.

I ot'2

N'lodule-3
Slate and cxltlain deve lopmcnt testing and its three levels unit testing, cotttponcllt testirlg and

svstcnr tcsting. (07 Nlarks)

What is test drivcn dgy,E:loprncnt'/ Statc thc bcncllls oltcst clriven clevelopnrcut. (07 N{arks)

Lrplain scenario artci pcrlbrnrancc tcsting. (06 Nlarks)

(06 !Iarhs)
(()tl Ilarks)
(06 \l:rrks)

(05 N'Iarks)

(05 NItrks)
(10 NIarks)

(07 NIarks)

(07 Marks)
static so{tware

(L)6 \Iarks)
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Nlodule-5
9 a. Itxplaip thc ways o1'co1-ting rvith changcs ancl rechtctiorl tlf l'cuot'I. ctlst. (06.\larhs)

b. Erplain thc process of prolotvpc tlcr clo1lntcnt. \\'hrrt nre its benefits',' (0tl Nlarlis)

c. List ancl expiain thc varioris cxtlcn'rc pt'u-tt'utttttrittu 1tl'lLe tices. (06 Nlarks)

on
10 a. \\rhat is pair ltrcgriulnting'.'Lrst thc adrrantagcs o1'pait'l.tt,gt',ttrttttittg. (05 Ilarlis)

b. Distingr-rish bctlvcct.r plarr rlrircn ancl agilc clcvcloprrcttt ri'itlt a ttcat diau.ratll. (()tt l\larks)

c. lrrplain SCI1UM procrrss rr'itl-r ils charactcristics. (07 )Iarks)

-) -t'1
- \) I L
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(05 Marks)

(06 l{arks)
(09 N'Iarks)
(05 N{arks)

involvcd in thc
(07 N'Iarks)

(07 N'Iarks)

(06 i\{arks)

(10 Marks)
is accepted
(10 Marks)

Fourth Semester B.E. Degree Exarnination, Aug./Sept.2020
Data Gommunication
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Note: .lttswer ftnJ| FlrlE /ittl questions, choosing OltE Jitlt questiott Ji'om enclt module.

Vlotluler-l
1. Dcllnc Data Con-rmLrnication. With a neat diaqrrtl. crplain Netu,ork topologies. (05 Nlarks)

b. I:.rplain TCPTIP protocol suite u'ith urr-rltiplering and c'letlultiplcxing concepts. (10 YIarks)

c. IllLrstlatc hne coding lcchniques. I)rarv rr lrne coding seqlrcuce ibr 010010 Lrsing Polar and

13ipolar schcme s.

OR
2 a.. ['lou'cio yoll nre asllre lhe pcrforluancc of tl-Le netrvork? E,rplain.

b. Irplain thc Transtlission irnpainnenls olmcdia.
c. List and explain tlte Intcmct Adnrinislriition.

\lorlult'-2
3 a. Write about Pr-rlse Codc Modulation (PCM) and discuss the steps

quantization proccss.

b. Compare and cxplain Parallel and Serial clata transtnission ntodes.

c. Erplain Arrrplitr"rde Shift Keying (ASK).

OR
Ll. What is Multiplexing'/ Explain the wave length division mLrltiplering. (07 Marks)

b. C--alcrrlate bit rate, ilthc available banclwiclth is l00Khz anci u,hich spans fionr 200Khzto
300 Khz. Consider ASI( u,ith d: I and r: l. (04 Marks)

cr. What is Sprcad Spectnur'? Explain Dl-lSS bandr,r,idth shartng. (09 Marks)

Module-3
5 a. flou, docs data words and cocle words are representcd

errors bc clctected zrnd corrcctcd r-rsing block coding'/
in block coding and exPlain how can

b. Fincl tlic cocle lvorcl using CRC encoder ancl deuronstrate whether the data worcl

or rfiscarded. The siven data is 1 00 I and the generator is l0l 1 .

bit orientcd ti"aming rvith appropriate
(10 NIarks)
(10 Nfarks)

OR
6 a. Erplain in cletail character orienfcd frarr,ing and

crlrtttl"rlc.
Ir. Erplair, the PPP flame fbrntat.

Module-zl
7 a. Explain pure ALOHA ancl Slottecl ALOtIA r,vith reierencc to i) Fratre ii) Vulnerable

tit"ne and iii) Thror-rghpr:ts. (10 ]'{arks)

b. List ancl erplain any ollc chaunelization lrrotocol in detail. (10 N/tarks)

OR
lof 2
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8a.
b.

9a.
b.

Expl ain C igab i t E,th ernet ciesign tech ni qLres.

Illustrate Blue tooth architecture and its types, lr'ith a tleat ligure.

\ l od tr te-5
List and explair"r in cictail thc typcs of scrviccs proviclcd by tlie WiN'lAX.

Iixplain satcllite netu'r rks and its opcratiot-ls.

OR
10 a. I-xplarn the llirec phases ot tnobile hosl to cottlnlutlicali()ll \\'i1h Lctlrtrtt- htlst

d iaglrrnr.
b. Illustraie the transition stratcqies flonr IPV'I to lPV6.

l7cs46

(10 N'Iarks)

(10 Marks)

(10 IIarks)
(10 \{arks)

rvtth a suitablc
(10 NIarks)
(10 Marks)
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